STEERING & SUSPENSION PARTS

Ajuo sasodind uoljeuwuIo Ul 10j Pasn aJe JUSWNDJ0P SIY3 Ul papn|dul Blep pue siaqunu jied ‘suondudsep jonpoud ||V
AIpldewWeE 16]1q 929PES 19|119A dA 1iEjeiewNU Bd1ed ‘LUBjeLUBId. UunIn W} epuBwnNyop ng X

SINILI M3N



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF. A-754 ADAPTABLEFOR AUDY
Suspension Ball Joint

Weight: 0528 Length: 108  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NGO
g5 Fy 2017- Front Lower 80A4076898
TEKNOROT REF: A-754 ADAPTABLEFOR ALJDI
Suspension Ball Joint

Weight: 0528  Length: 108  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

A6 4A2 C8 2018- Front Lower 80A407689B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\) i Eﬁgﬂgﬁg I

TEKNOROT REF. A-754
Suspension Ball Joint

Weight: 0528 Length: 108  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

A7 4KA 2018- Front Lower

TEKNOROT REF: B-1008
Suspension Control Arm and

. YEAR ONLY
Ball Joint Assembl
4 2006-2010
Weight: 3224  Length: 4437
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
X3 E83 2004-2010 |
COMPONENTS NUMBER NAME DIRECTIONS

56394

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR ALJDI

OEMNO

80A4076898

ADAPTABLEFOR BMW

OEMNO

31103443128

OEMNO



TEKNOROT REF: B-1009 ADAPTABLEFOR BMW
Suspension Control Arm and

. YEAR ONLY
Ball Joint Assembly 2006-2010

Weight: 3224  Length: 4437

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Front Left Lower
X3 EB3 2004-2010 Forward 31103443127
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
5B 394
TEKNOROT REF: B-787 ADAPTABLEFOR BMW
Lateral Arm

e——

Weight: 2046  Length.: 413

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
X3 F25 2010-2016 Rear Lower 38826795812
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
SB 1215

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: B-787 ADAPTABLEFOR. BMW
Lateral Arm

A

Weight: 2046  Length: 413

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
X4 F26 2014-2018 Rear Lower 33526795612
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
561215
TEKNOROT REF: BU-191 ADAPTABLEFOR BLIICK
Steering Tie Rod End AWD

(G

Weight: 067  Length: 160  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RENDEZVOUS 2002-2007 Rear Outer 868879501

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. BU-191 ADAPTABLEFOR GHEVROLET
Steering Tie Rod End AWD

|G

Weight: 067  Length: 160  Bolt Metric: M16X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO

UPLANDER 2005-2008  Rear Outer 86879501
TEKNOROT REF.: BU-191 ADAPTABLEFCR PONTIAC
Steering Tie Rod End AWD

(G

Weight: 067  Length: 160  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

AZTEK 2001-2005 Rear Outer 88879501

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



( ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. BU-191 ADAPTABLEFOR SA TURN
Steering Tie Rod End AWD

|G

Weight: 067  Length: 160  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RELAY 2005-2007 Rear Outer 88879501
TEKNOROT REF: CH-1021 ADAPTABLEFOR GHEVROLET
Steering Tie /?aa: End YEAR ONLY
e 2011-2018

Weight: 0427  Length: 74  Bolt Metric: M12X1,75  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CAPTIVA 1st Gen 2006-2018 Front 95940332

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




y
{5 TXNOROT

TEKNOROT REF: CH-1021

Steering Tie Rod End
-

1 H%

Weight: 0427  Length: 74

MODEL NO BODY CODE

ANTARA

TEKNOROT REF: CH-1022
Steering Tie Rod End

Weight: 0569 Length: 1145  Bolt Metric: M14X2

MODEL NO BODY CODE

COLORADO 1st Gen

Bolt Metric: M12X1,75  Housing Metric: M14X1,5

BER 2019

ADAPTABLEFOR (JPEL

CHASIS FROM B3000001

YEAR DIRECTIONS OEMNO
2006-2015 Front 95940332
ADAPTABLEFOR CHEVROLET
Z71off road
Package
YEAR ONLY
2006-2007

Housing Metric: M14X1,5

OEMNO

YEAR DIRECTIONS

2003-2012 Front 19135624

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING &8 SUSPENSION PARTS

(s T=NoROT

TEKNOROT REF: CH-1022 ADAPTABLEFOR GMIG
Steering Tie Rod End 771 0ff road munn L
Package
YEAR ONLY
2006-2007

Weight: 0569 Length: 1145  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
CANYON 1stGen 2004-2012 Front 19133624
TEKNOROT REF: CH-1092 ADAPTABLEFOR GHEVROLET

Lateral Arm

Weight: 1695  Length: 380
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MALIBU 7th Gen 2004-2012 Rear Upper 25850211

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




&} e Eﬁw(f;mgﬁg Ant

TEKNOROT REF. CH-366

Suspension Control Arm and
Ball Joint Assembly

Weight: 3,752

Length: 382  Bolt Metric: M14X1,5
MODEL NO BODY CODE
TAHOE 1stGen
COMPONENTS NUMBER
A CH-984

TEKNOROT REF.: CH-367

Suspension Control Arm and
Ball Joint Assembly

Weight: 3752  Length: 3682  Bolt Metric: M14X1,5

MODEL NO BODY CODE
TAHOE 1st Gen
COMPONENTS NUMBER
a CH-984

ADAPTABLEFOR GHEVROLET

OEMNO

12361036

OEMNO

15687080

ADAPTABLEFOR CHEVROLET

YEAR ONLY
1995-2000
YEAR DIRECTIONS
1992-2000 Front Right
Upper
NAME DIRECTIONS
Suspension Ball
Joint Front Upper
YEAR ONLY
1995-2000
YEAR DIRECTIONS
1892-2000  Front Left Upper
NAME DIRECTIONS
Suspension Ball
Joint Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

12361035

OEMNO

15667080



TEKNOROT KEF.: CH-366

Suspension Control Arm and
Ball Joint Assembly

ADAPTABLEFOR GHEVROLET

Weight: 3752  Length: 362  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPRESS 1500 15t Gen 1996-2002 " UJZ ;éfm 12361096
COMPONENTS NUMBER NAME — DIRECTIONS OEMNO

a CH-984 S“SDEJ’;%’;” Ball | rront Upper 15687060

TEKNOROT REF: CH-367

Suspension Control Arm and
Ball Joint Assembly

ADAPTABLEFOR CHEVROLET

Weight: 3752  Length: 3682  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPRESS 1500 1stGen 1996-2002  Front Left Upper 12361035
COMPONENTS NUMBER NAME — DIRECTIONS OEMNO

l CH-984 SUSL'QJZ%?” Ball | rront Uper 15687060

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TSNOROT

1
\) STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CH-734

Lateral Arm
M
Weight: 1128  Length: 579
MODEL NO BODY CODE YEAR
IMPALA 8th Gen, th Gen 2000-2013
TEKNOROT REF: CH-735
Lateral Arm
Weight: 1399 Length: O  Bolt Metric: M20X1,5
MODEL NO BODY CODE YEAR
IMPALA 8thGen SthGen  2000-2013

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

Rear Forward

DIRECTIONS

Rear Rearward

ADAPTABLEFOR GHEVROLET

OEMNO

20930646

ADAPTABLEFOR CHEVROLET

OEMNO

208930845



TEKNOROT REF: DO-355 ADAPTABLEFOR [JODGE
Suspension Ball Joint 4x4
1 YEAR ONLY
2000-2002
Weight: 0598 Length: 1094  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RAM 2500 3rd Gen 2000-2009 Front Upper 5015114AA%
TEKNOROT REF: DO-355 ADAPTABLEFOR [JODGE
Suspension Ball Joint 4x4
i YEAR ONLY
2000-2002
Weight: 0598  Length: 1094  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RAM 3500 3rd Gen 2000-2009 Front Upper 5015114AA%

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=XNOROT

TEKNOROT REF. DO-371 ADAPTABLEFOR DODGE
Steering Tie Rod End

f

Weight: 119 Length: 182  Bolt Metric: M14X1,5  Housing Metric.: 16G 1" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RAM 2500 4th Gen 2010-2013 Front Inner 68036940AD
TEKNOROT REF: DO-371 ADAPTABLEFOR [JODGE
Steering Tie Rod End

[

Weight: 119 Length: 182  Bolt Metric: M14X15  Housing Metric: 16G 1" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RAM 3500 4th Gen 2010-2013 Front Inner 68036940A0

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. F-1011 ADAPTABLEFOR [VECO

Steering Tie Rod End Vehicles without stabiliser
@

M

Weight: 0597 Length: 109  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
DALY Vi 2014- Front 42569563
TEKNOROT REF: F-1021 ADAPTABLEFOR [VECO
Steering Tie Rod End Vehicles with stabiliser

Weight: 0524  Length: 87  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

DAILY Vi 2014- Front 42569562

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: FO-10892
Lateral Arm

Weight: 3664  Length: 490

MODEL NO BODY CODE
C-MAX Il
COMPONENTS NUMBER
5B 366
5B 367

TEKNOROT REF: FO-10892
Lateral Arm

Weight: 3664  Length: 490

MODEL NO BODY CODE
V40 Il
COMPONENTS NUMBER
5B 366
56367

Euro Market

YEAR DIRECTIONS

2010- Rear Lower

NAME DIRECTIONS

ADAPTABLEFOR FORD

OEMNO

1854048, 1945978, 1719007

OEMNO

ADAPTABLEFOR YOI VO

YEAR DIRECTIONS

2012- Rear Lower

NAME DIRECTIONS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

1894048, 19459978, 1719007

OEMNO



TEKNOROT REF: FO-11082 ADAPTABLEFOR FORD
Lateral Arm Estate version

Weight: 3627  Length: 490

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
FOCUS Il europe made 2011-2018 Rear Lower 1931562
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
5B 366
5B 367
TEKNOROT REF: FO-1114 ADAPTABLEFOR ORI
Suspension Ball Joint without height pack O

L

Weight: 0401 Length: 1145  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RANGER I 2006-2011 Lower UH713540

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

‘,}) STEERING &8 SUSPENSION PARTS

TEKNOROT REF: FO-1156A ADAPTABLEFOR FORD
Suspension Stabilizer Link Metal type

YEAR ONLY

only 2009

Weight: 0491 Length: 260  Bolt Metric: M12X1,75  Housing Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NGO
FLEX 1stGen 2009-2012 Front Right B8AB75K484A
TEKNOROT REF: FO-1157A ADAPTABLEFOR FOR]
Suspension Stabilizer Link Metal type
YEAR ONLY
only 2009

Weight: 0491 Length: 260  Bolt Metric: M12X1,75  Housing Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FLEX 1st Gen 2009-2012 Front Left 8A875K483A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: FO-1288
Suspension Control Arm and RWD
Ball Joint Assembly
Weight: 10282  Length: 470  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
EXPEDITION 1stGen 1997-2003 L ower
COMPONENTS NUMBER NAME DIRECTIONS
M-
‘ FO-1050 Ball Joint Front
\_ J
TEKNOROT REF. FO-1289
Suspension Control Arm and
Ball Joint Assembly
Weight: 10282  Length: 470  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
F-150 10th Gen 1997-2003  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
8-
‘ FO-1050 Ball Joint Front
« /

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

6L375076E

OEMNO

F5773050BB, F5TZ3078A, F5TZ3079A

ADAPTABLEFOR FORD

OEMNO

6L373079E

OEMNO

F5725050BB, F5TZ3076A, F6TZ3079A



TEKNOROT REF: FO-1288
Suspension Control Arm and RWD
Ball Joint Assembly
Weight: 10282  Length: 470  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
EXPEDITION 1stGen 1997-2003 L ower
COMPONENTS NUMBER NAME DIRECTIONS
M-
‘ FO-1050 Ball Joint Front
\_ J
TEKNOROT REF. FO-1289
Suspension Control Arm and
Ball Joint Assembly
Weight: 10282  Length: 470  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
F-150 10th Gen 1997-2003  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
8-
‘ FO-1050 Ball Joint Front
« /

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

6L375076E

OEMNO

F5773050BB, F5TZ3078A, F5TZ3079A

ADAPTABLEFOR FORD

OEMNO

6L373079E

OEMNO

F5725050BB, F5TZ3076A, F6TZ3079A



(} TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: FO-1331 ADAPTABLEFOR FORD

Steering Tie Rod End AWD ¥
®

Weight: 3809 Length: 373  Bolt Metric: M14X1.5  Housing Metric: 13/8"16 UN

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-250 SUPER DUTY 3rd Gen 2011-2016  Front Left Outer HC373A1310

TEKNOROT REF: FO-1331 ADAPTABLEFOR FORD

Steering Tie Rod End 4W0
®

S acm—m

..
o @ =

Weight: 3809  Length: 373  Bolt Metric: M14X1,5  Housing Metric.: 1 3/8"16 UN

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-350 SUPER DUTY 3rd Gen 2011-2016  Front Left Outer HC373A1310

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



L 5 TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: H-1003 ADAPTABLEFOR HONDA
Steering Tie Rod

O

Weight: 075 Length: 3165  Bolt Metric: M14X1,5  Housing Metric: M20X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO

RIDGELINE 2006-2014 Front 53010SJCA01
TEKNOROT REF. H-1013 ADAPTABLE FOR HIONIDA
Steering Tie Rod only 2.2 COTI

Weight: 0645 Length: 336  Bolt Metric: M14X1,5  Housing Metric: M20X1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CR-V n 2006-2011 Front 53010SWAAD1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: H-1033 ADAPTABLEFOR HONDA
Steering Tie Rod

Weight: 0564  Length: 2531  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
JAZZ v 2015- Front 53410758003
TEKNOROT REF: HY-1003 ADAPTABLEFOR HYUNDAI
Steering Tie Rod

e ——ee— |
o)

Weight: 0651 Length: 3515  Bolt Metric: M14X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CRETA 1st Gen 2015- Front 5654009100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TSNOROT

A
k J STEERING &8 SUSPENSION PARTS

TEKNOROT REF: HY-1003 ADAPTABLEFOR HYUNDAI
Steering Tie Rod

e —me— |
O

Jf

Weight: 0651 Length: 3515  Bolt Metric.: M14X1,5  Housing Metric: M16X1,5 j-yw

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
x25 1stGen 2015- Front 5654009100
TEKNOROT REF: HY-10092 ADAPTABLE FOR HYUNDA/
Lateral Arm

Weight: 06877  Length: 236

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TUCSON 2nd Gen 2010-2015 Rear 5525025100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1283

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{5 TENOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: HY-10092 ADAPTABLEFOR HYUNDA/
Lateral Arm

Weight: 0877  Length: 236

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
X35 LM 2010-2015 Rear 5525025100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
5B 1283
TEKNOROT REF: HY-10092 ADAPTABLEFOR A
Lateral Arm

e ()

Weight: 0877  Length: 236

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
SPORTAGE SL 2010-2015 Rear 5525025100
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
SB 1283

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: HY-1023 ADAPTABLEFOR HYUNDAI
Steering Tie Rod

B —

Weight: 046  Length: 219  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
SOLARIS IV.RB 2011- Front Right 5772441090
TEKNOROT REF: HY-1033 ADAPTABLEFOR HYUNDAI
Steering Tie Rod

W —— -

Weight: 0464  Length: 219  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SOLARIS IV. RB 2011- Front Left 5772441000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: HY-1023 ADAPTABLE FOR I
Steer, /ﬂg Tie Rod Russian type

B —

Weight: 046  Length: 219  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RIO uB 2011-2017 Front Right 5772441090
TEKNOROT REF: HY-1033 ADAPTABLEFOR A
Steering Tie Rod Russian type

W —— -

Weight: 0464  Length: 219  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RIO UB 2011-2017 Front Left 5772441000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



&} TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: IN-106 ADAPTABLEFOR INIFINITT
Suspension Stabilizer Bar Link AWD

L9

=<

@
Weight: 0366  Length: 55  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
FX37 2nd Gen 2008-2013 Front Right 546181CA4A
TEKNOROT REF: IN-107 ADAPTABLEFOR [NIFINITT
Suspension Stabilizer Bar Link AWD
@

Weight: 0386  Length: 55  Bolt Metric: M12X125

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FX37 2nd Gen 2008-2013 Front Left 546681CA4A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. IN-106 ADAPTABLEFOR INIFINIT/
Suspension Stabilizer Bar Link

L9

=X

®
Weight: 0366  Length: 55  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NGO
ox70 2014-2017 Front Right 546181CA4A
TEKNOROT REF: IN-107 ADAPTABLEFOR [NIFINITT
Suspension Stabilizer Bar Link

@

Weight: 0386  Length: 55  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ox70 2014-2017 Front Left 546681CA4A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. IN-106 ADAPTABLEFOR INIFINIT/
Suspension Stabilizer Bar Link

L9

=X

@
Weight: 0366  Length: 55  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
FX50 2008-2013 Front Right 546181CA4A
TEKNOROT REF: IN-107 ADAPTABLEFOR [NIFINITT
Suspension Stabilizer Bar Link
@

Weight: 0386  Length: 55  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FX50 2014-2017 Front Left 546681CA4A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. JA-508

Suspension Control Arm and Aluminium
Ball Joint Assembly
/':\
: &
Weight: 116  Length: 297
MODEL NO BODY CODE YEAR DIRECTIONS
3 . Front Right
F-PACE 1stGen 2015 Upper
COMPONENTS NUMBER NAME DIRECTIONS
s Control Arm
‘ ¢ ’ SB1311 Bushing Front Upper
TEKNOROT REF: JA-609
Suspension Control Arm and Aluminium
Ball Joint Assembly e
Weight: 116  Length: 297
MODEL NO BODY CODE YEAR DIRECTIONS
F-PACE 1stGen 2015- Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
Cw Control Arm
¢ ¢ ’ SB 15311 Bushing Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR JAGLIAR

OEMNO

T4A1010

OEMNO

T2H3193% T2H3192*

ADAPTABLEFOR JAGLIAR

OEMNO

T4A1068

OEMNO

T2H3193%, T2H3192*



(} TSXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: JE-150 ADAPTABLEFOR _JEEP
Suspension Ball Joint Kit ;

Q’Q @

Weight: 1125 Length: 394  Bolt Metric.: 18G 9/16" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
GRAND CHEROKEE Wi, WG 1999-2005 Front 668004085AA
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
4 i JE-154 Ball Joint Front Upper 68004085AA
7= |
&
‘g. JE-155 Ball Joint Front Lower 5012432AA
TEKNOROT REF: JE-150 ADAPTABLEFOR _JEEP

Suspension Ball Joint Kit

$o o OISR

Weight: 1125 Length: 994  Bolt Metric.: 18G 9/16" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
WRANGLER K 2007-2018 Front 68004085AA
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
4 i JE-154 Ball Joint Front Upper 68004085AA
1
&
‘g. JE-155 Ball Joint Front Lower 5012432AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: JE-150 ADAPTABLEFOR _JEEP
Suspension Ball Joint Kit

*g’@ @

Weight: 1125 Length: 394  Bolt Metric.: 18G 9/16" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
WRANGLER TJ 1996-2007 Front 68004085AA
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
4 i JE-154 Ball Joint Front Upper 68004085AA
7= |
&
g. JE-155 Ball Joint Front Lower 5012432AA
TEKNOROT REF: KI-624 ADAPTABLEFOR A
Suspension Ball Joint

Weight: 052  Length: 74

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CARENS Il 2002-2006 Front Lower OK2FA34550

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: M-1016
Suspension Stabilizer Bar Link

E' ii’a‘

Weight: 0508 Length: 210  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR

X-CLASS w470 2017-

TEKNOROT REF: M-1016
Suspension Stabilizer Bar Link

-

bt £

Weight: 0508 Length: 210  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR

NAVARA NP300 (D25) 2015-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIERGEDES

DIRECTIONS

Rear

OEMNO

4703260100, 562614KHOA,
562615XA0A, 562614KHOA

ADAPTABLEFOR NISSAN

DIRECTIONS

Rear

OEMNO

4703260100, 562614KHOA,
562615XA0A, 562614KHOA



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: M-284
Suspension Control Arm and RWD
Ball Joint Assembly
Weight: 2685  Length: 401  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
. : Front Right
CLS-CLASS 0218 2011-2017 | oo
COMPONENTS NUMBER NAME DIRECTIONS
, SB1138 BONIOIATY 1 ot ower
Bushing
TEKNOROT REF. M-285
Suspension Control Arm and RWD
Ball Joint Assembly
Weight: 2685  Length: 401  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
Front Left Lower
CLS-CLASS 0218 2011-2017 Forward
COMPONENTS NUMBER NAME DIRECTIONS
’ SB 1138 Conrol AT | ont ) ower
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

R 2019

ADAPTABLEFOR MIERGEDES

OEMNO

2185301211

OEMNO

2183301211* 2183301111*

ADAPTABLEFOR MIERGEDES

OEMNO

2185301111

OEMNO

2163301211% 2183301111*



\;s! E,,,S NDR DT OCTOBER 2019

Lateralflrm

Weight: 0668  Length: 394,5

Rear Right Upper
Forward

S-CLASS W222 V222 X222 2014- 2223500292

Control Arm | Rear Right Upper » »

@ 5B 1325 Bushing Forward 2223500192% 2223500292
() Control Arm | Rear Left Upper . .
ot SB 1326 Bushing Forward 2223500192% 2223500292

TEKNOROT REF: M-965 s MERCEDES

Latera/Arm

Weight: 0868  Length: 394,5

Rear Left Upper

S-CLASS W222 V222 X222 2014- oo 2223500192
G SB13%5 Control Arm — Rear RIGREUDPEr | oonac001g0+ 0923500292+
& Bushing Forward
(O SB 1326 Control Arm | Rear Left Upper 2093500192* 2223500292
e Bushing Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 35



TEKNOROT REF: M-968

Suspension Control Arm and 4matic
Ball Joint Assembly

£

Weight: 3071  Length: 469  Bolt Metric: M16X15

Front Right
Lower

S-CLASS W222 V222 X222 2014- 2173306200

9 Control Arm . .
2 ‘ SB 1240 ‘ Bushing Front Lower 2173305100% 2173305200

TEKNOROT REF: M-969 s MERCEDES

Suspension Control Arm and 4matic
Ball Joint Assembly

< Y

i
. °

Weight: 3071  Length: 469  Bolt Metric: M16X15

S-CLASS W222 V222 X222 2014- Front Left Lower 2173505100

b o SB 1240 Lontrol Arm Front Lower 2173305100* 2173305200
e Ls Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 36




( ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: MA-268 ADAPTABLE FOR MAZDA

Suspension Control Arm and
Ball Joint Assembly

Weight: 4167  Length: 365

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
MPV nmeLw) 1999-2006 Lower LCB2343000
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
s MA-874 Ball Joint Rear Lower LO6234300C% LO6234350C%
TEKNOROT REF: MA-269 ADAPTABLEFOR MIAZ DA
Suspension Control Arm and

Ball Joint Assembly

Weight: 4167  Length: 365

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MPV IheLw)J 1999-2006  Front Left Lower 062343500
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
0 MA-874 Ball Joint Rear Lower LC6234300C% LC6234350C%*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: MI-7282 ADAPTABLEFOR MIITSUBISH/
Lateral Arm

—

Weight: 0,748  Length: 258

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CARISMA 2000-2006  Rear Right Upper MR130480
TEKNOROT REF. MI-7292 ADAPTABLEFOR MIITSUBISHI

Lateral Arm

H

Weight: 0,748  Length: 258

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CARISMA 2000-2006  Rear Left Upper MR130479

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



T
\) i EE,N(L;NQEH I

TEKNOROT REF: MI-785
Suspension Ball Joint 4x2

Weight: 0649  Length: 836  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
L200 2000-2005 Front Lower
TEKNOROT REF: N-1008
Suspension Control Arm and
Ball Joint Assembly
® s ‘fﬁ R
:;Oi—! s
Weight: 4351  Length: 378
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
MURANO 751 2007-2014 L ower
COMPONENTS NUMBER NAME DIRECTIONS
5B 1947 Contrq/ Arm Front Lower
Bushisng Inner
Control Arm Front Lower
SB812 Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ER 2019

ADAPTABLEFOR MIITSLIBISH/

OEMNO

MR286027%, MR296028*

ADAPTABLEFOR NISSAN

OEMNO

545001ATOB, 545001AA1A

OEMNO

545003TADB, 545013TAOB*

545003TAOB*, 545013TAOB*



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: N-1009

Suspension Control Arm and
Ball Joint Assembly

# 3 -
@

Weight: 4351  Length: 376
MODEL NO BODY CODE YEAR DIRECTIONS
MURANO /51 2007-2014  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
S5 1249 Conmj{ Arm Front Lower
Bushisng Inner
Control Arm Front Lower
B 812 Bushing Outer
TEKNOROT REF: N-1013
Suspension Stabilizer Bar Link
it YEAR ONLY
2001-2013

-
g
&

o

Weight: 028 Length: 161  Bolt Metric: M10X1,25  Housing Metric: M10X1,25
MODEL NO BODY CODE YEAR DIRECTIONS
PATROL Y61 1998-2013 Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR NIISSAN

OEMNO

545011ATOB, 545011AAIA

OEMNO

545003TADB", 545013TAUB*

545003TADB", 545013TAUB*

ADAPTABLEFOR NISSAN

OEMNO

56260VC300



TEKNOROT REF: SB 1138 ADAPTABLEFOR MERCEDES
Control Arm Bushing RWD

Weight: 054  Length: 80

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CLS-CLASS C218 2011-2017 Front Lower 2183301211* 2183301111*
TEKNOROT REF: 8B 1214 ADAPTABLEFOR MIIN/
Control Arm Bushing

Weight: 0135 Length: 40

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

COOPER R50.R53 2001-2006 Rear 383826768724%

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



7
W ENOROT

TEKNOROT REF: 8B 1240
control Arm Bushing

>
\\‘ N /

O ;/}r“

s

Weight: 0516  Length: 80

MODEL NO BODY CODE

S§-CLASS W222 V222 X222

TEKNOROT REF: 8B 1325
Control Arm Bushing

\\ L
Weight: 0072  Length: 36
MODEL NO BODY CODE
S-CLASS W222 V222 X222

YEAR

2014-

YEAR

2014-

JBER 2019

ADAPTABLEFOR MIERGEDES

DIRECTIONS

Front Lower

OEMNO

21733051007, 2173306200%

ADAPTABLEFOR MIERGEDES

DIRECTIONS

Rear Right Upper
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

22235001892%, 2223500292*



L 5 TSXNOROT

TEKNOROT REF: 8B 1326 ADAPTABLEFOR MERCEDES
control Arm Bushing

Weight: 0078  Length: 40

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
S-CLASS W222 /222 X222 2014- Pea%fv’;[;dppef 2293500192* 2223500292+

TEKNOROT REF: T-1018 ADAPTABLEFOR TOYOTA

Suspension Control Arm and
Ball Joint Assembly

Weight: 8567  Length: 449

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LAND CRUISER PRADO J150 2010- Fr ‘Z’; Z;th f 4806860040
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
w
é o T-1014 Ball Joint Front Lower 4806960040% 4806860040*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

N
/\’ STEERING &8 SUSPENSION PARTS

TEKNOROT REF: T-1019 ADAPTABLEFOR TOYOTA

Suspension Control Arm and
Ball Joint Assembly

Weight: 8657  Length: 449

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LAND CRUISER PRADO J150 2010- Front Left Lower 4806960040
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
>
é > 1-1014 Ball Joint Front Lower 4806960040~ 4606860040%
TEKNOROT REF: V-10082 ADAPTABLEFCR /OL KSWAGEN

Lateral Arm

Weight: 1107  Length: 3942

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
TIGUAN AD 2016- Rear Right 50F5052240
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
SB 1057

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

TEKNOROT REF. V-10092 ADAPTABLEFOR VOL HSWAGEN
Lateral Arm ;

Weight: 1107  Length: 3942

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TIGUAN AD 2016- Rear Left 50F5052250
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
561057
TEKNOROT REF: V-10082 ADAPTABLEFOR SKODA

Lateral Arm

Weight: 1107  Length: 3942

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
HODIAQ NS7 2016- Rear Right 50F5052240
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
SB 1057

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: V-10092 ADAPTABLEFOR SHODA
Lateral Arm

Weight: 1107  Length: 3942

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
KHODIAQ NS7 2016- Rear Left 50F5052250
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
SB 1057

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



